Unit 6 Lesson 7 Notes Solving Similar Triangles Name: kf_,u

D lHations produce similar triangles. In similar triangles,

e corresponding angle measures are (‘ OY\ anu CV)“— (NOT affected by the scale factor)
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o corresponding sides are (su up ratios/ fractions of corresponding sides)
Identfy the corresponding congruent angle pairs. Werite a proportion for the corresponding sides.
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Substitute the lengths of the sides and solve for the missing sides using cross multiplication.
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1. If ARST~AXYZ, find the pe etér%f the smaller triangle. 2. AUVW~ AUQR .
Solve for x.
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